B/ 7NT = RIF77 11 APk

b 5 Hich Iy ] =[5 I BETSE | exERAR | ZE=L5IF
X 5 19~21 |SBEHLS 0 ¥1,600 ¥-1,600
12 19~21 |SBESLS 0 ¥1,600 ¥-1,600

19 19~21 |[SEESLS 0 ¥1,600 ¥-1,600

26 19~21 |SBESLS 0 ¥1,600 ¥-1,600

N 7 19~21 |SBEHLS 0 ¥1,600 ¥-1,600
14 19~21 |SBEHLE 0 ¥1,600 ¥-1,600

21 19~21 |SBEHLS 0 ¥1,600 ¥-1,600

28 19~21 |SBESLE 0 ¥1,600 ¥-1,600

& 1 19~21 |B#HAH 0 ¥1,600 ¥-1,600
8 19~21 |(BFHFAH 0 ¥1,600 ¥-1,600

15 19~21 |BHAHE 0 ¥1,600 ¥-1,600

22 19~21 |BF#HFAH 0 ¥1,600 ¥-1,600

29 19~21 |BHAHE 0 ¥1,600 ¥-1,600

t 2 19~21 |SBEHLS 0 ¥1,600 ¥-1,600
9 19~21 |SBEHLE 0 ¥1,600 ¥-1,600

16 19~21 |SBEHLS 0 ¥1,600 ¥-1,600

23 19~21 |SBEHLE 0 ¥1,600 ¥-1,600

30 19~21 |SBESLS 0 ¥1,600 ¥-1,600

Gl 0 0 ¥28,800 ¥-28,800




